
Math 9 Answer Key 

1. Vertical, horizontal, oblique/diagonal 

2. a) vertical 

b) oblique/diagonal 

c) horizontal  

3.  

 

4. a) 867.07 cm2  e) 630 cm2 

 b) 408 m2  f) 180 cm2 

 c) 304 cm2  g) 7885.12 m2 

 d) 455.3 cm2  h) 355 m2 

5.         D          B         A         E  C 

 -3  -2  -1  0  1  2 

6.  -0.875, -0.5, -0.5, 0.8, 0.875 

7. Multiple Answers. So long as you multiplied the top and bottom by the same number the answer 

is correct. 

 

Figure Order of Rotation Angle of Rotation (degree) Angle of Rotation (fraction) 
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8.  a) 0  e) 42  i) -5 

b) 2  f) -12  j) -5 

c) 1  g) -36  k) -24 

d) -14  h) 66  l) 144 

9.  a) -2.47 

 b) -1.5 

 c) 1.5 

10. Brackets, Exponents, Division, Multiplication, Addition, Subtraction 

11.  a) - 3.1  12.  a) 3/2   13.  a) -2 4/5 

 b) -29.7  b) -9/4    b) 8 ½  

 c) 19.3   c) -22/5    c) -6 2/3  

 d) 7.8   d) 31/8    d) 2 2/3   

 

14.  a) 7/10   d) 8 3/10   

 b) 3/10   e) -2 1/15 

 c) 1 11/12  f) ½      

  

15.  a) 5/8   d) 2 31/56  g – j): depends on the question you got. 

b) 3/10  e) 15/16   

c) 3 9/10  f) 15/28  

 

16. 8   17. 16m2  18. 0.36   

19.  a) yes   e) no 

 b) no   f) no 

 c) yes 

 d) no 



20. a) 27  b) 84  c) (-4)5 

21.  a) (-9)(-9) = 81  b) – (2)(2)(2) = -8  c) 3x3x3x3x3 = 243 

 d) (-6) (-6) (-6) (-6) = 1296 

22. Check your notes to make sure you 

know the right laws 

 

23.  a) 29 = 512 b) 34 = 81 c) 43 = 64 d) 28 = 256 e) (-2)10 = 1024  

f) (-3)8 = 6561 

 

24.  a) 23 x 25 = 28  b) 45 ÷ 42 = 43  c) 63÷ 6 = 62 

 

25.  a) 63  b) -17  c) 0  d) -5 

26. x = 34 

27. x = 1 

28. x = 3 

29.  a) yes  b) no 

30.  a) x = 6.4,    y = 2.4 

 b) x = 7.8 

 c) x = 6,       y = 5 

 d) x = 14      y = you can’t do it because I forgot to give you a value for DI 

 e) x = 1.4 

 f) x = 7.5 

 g) x = 33.6 

 


